TrUSIB3NE(Erra)

&8 MH[A FIE

FRUEI|YIIE(TFRL)

WO 0|4OR NEIIES W WoN

= =2
AXO|XI= : 2|HE, 0|8

HFOA|

C—

B OFX{0

% 2ldg9 MESE
= I£ + [0 3%, (T, &

=g — Y = "o o
X T, AN 2 AIEN 283217t e 9= ofelieh Z20] HE Lt
- YAIE Al G| Al AL AEL| 2| AT|ZH27HE) ROIXL EEF2

~ SO|X} S5 A2 HA| Al : 2 2 AIZO| SUSH B AO7|ZHe| QOIX} B Fa
- 1 919| A9 : PHIAE YA MAHH0IST Y5 I IPIRTUE TS £ NS
SHZ20M Y WESH 7K 520 Hi2d 3872 IS BRSNS 71Z)
AEHS 0| B3 MSIIE ALS0| TEE A, H5HO| HOAIMS Tl s2HE + UBLIC
HNST 512 A IS AL BAE 20|2J0] WA 2+ USLILL,

22 AAE 12, BE A2

2Eo=T MHd
7|2t 2l 22 BF|E 27} wrast £ o)
AglE wFo] RHHE F

atast & UALICE
2(IHZ 2Y, NBHS 22
7HE OIZLHZ T} 0]0 St

UEHS IS S) FIELS0| Mg = A&
FELHIX=E S 4 H19X M1 2} o

= TTEE X|YE 3 AN ettt
— Ol H o]lO

SYE I= Mu|A0 tisto] 43S

1 8¥S =11 WES SE5| ololiet = Az 5kAI7] BHEHLICE

we

Ha|7}

[ =)

M —

o,
HZAIR! 2021-10745(71FY: 2021.08.03)

M4



=Y =2

dE7I28: A S|H| Bhet ZZAOHLY

EEN, BCHIZ7tE « 7t= R=27(2t0] =257 | Hoj| 7t=E SiiXlot= d% A2l tretmd2 AdsS

BaC IUHHE ofiX|et E=RH 2 ALoto] LHEotH, 10Z ;Y OfLHOf 2het X=|EL .

H2[H| 10,000 o CHEH 2I7EMHIA RIS 210 A[ZH0] £22E= SO S7HIe AFRE

=] =E 108 O|LHO|| Hretotr| 022 B2 A X 25FE 3712 O|Liof

7= = detet + AS LI

by HE=7t + 0] B2 =2|H0| o|o] Rt Aeld|of 2HE LEo| HIE2 L= LPHUA
X2l E Lk,



7tE 0|8 Al HiSEl= E2IE & &Qlo||Ef SO B7hMH[A= LFEA| 0|= 58 0]y =4 HX| §l0] FX|ELICH
S710|= =161, LS 22 AR 7t 2det 3L 7IEAE 871 MH|AS BHEE & JASLITL
- 7IEAL = 2IhAHIA BE HR N Y- 243 9171, MMX|H, 288 28 E= 1 ol 0|0 5= Aol &Y
- 7IEAS] SH0| = RIS X7t EUHOo = HIIMH|A HES SE

(B, HE M EHE Sl 38
- 7tE & A1 0] 5 0 FuRiA, siE 7t=2] =21 RXI7t 02 82

7tEATL FIIMEIAS HEol= BR0= F7IMHA B AR, HELUE S= SA| SHOIX(0| ZHAStLL, 7HE 1X|oi =LY,
0 =

O & 7HE I XIoto] =EILIC

[7HE DX Y | FIEHZETA, 2T, O[HY, SMS & 17}X]

271 Ol 2 54712 AKXt 2= (ilEEE=E Sl ME7IEAR SREM M2t 2219 M8SE = /HeEEH
0|Zel= S0l = & & USLIH.

O] QHLHE2 2021 88 X 7|FO0|H, 7|EL XpAMIBE AFel2 EH|O|X| (www.bccard.com)S HZESHA|7| HEELICY.

8=
7IE MY M 7tE 4EE H3lH|, 0|27 S0 2ot MR ArS ST, 2 3 SH 0| X|0f| A =HISEAIZ] HEEHLICE,
0 I |

=]

7t=71212F HHSH 0|27t S Mol= HIMZI=EES] TR 2| SR sHES 2767 L SE84=H 8828 27 s
S= SOl EUEHES UEY £ AU (F8E=E =10l 1332)

« HIMZIE DZHMIE : M= 0{C|A{L} 1588-4000 / EM|O|X| : www.bccard.com
o 2AEN S HE LHE2 HIMFIE DZMEH, S 0|X|S RZESHA|7| HEZL|CY.



